Risolvere i seguenti problema di Cauchy

u'’ + 2 = 4x
1) u(0)=1
u' (0)=0
u' —u =2z
2) u(0)=1
u' (0) =2
u 4 3u = 6ze®®
3) { w(0) = —1
2) w —2u =4ze 2"
uw(0) =1
u +6u + 10u=e"2* — 16
5) u(0)=0
v (0)=1
v +u=x+e "
6) u(0) =0
v (0)=0
u’ — 2 + bu = 4e?*
7) u(0)=0
v (0) =1
u" + 4y = 8sinz cosx
8) w(0)=0
v (0)=0
w4+ 6w + 10u=e"2* — 16
9) u(0)=0
u (0)=1
w20 —8u=9e"% -8z +2
10) w(0) =1
uw (0) = -1
u’ +u — 12u = 49¢3* 1
11) w(0) = —1
u (0) =4
uw =u— (1+3x2)u2
12) { u(l)=-1



r . x%—4x-2
13) { N [

u(0) =1

Determinare tutte le soluzioni delle seguenti equazioni differen-
ziali

1) 0

’ e
U =
+ V—x242zx

2) u' + ﬁzz_mz =0

3

v —zu—"= =0

2
/_ u"—2u—3
4) o' ==y

5) u’ + 4u = 4 cos 2z + 42>

6) v’ —u' —2u = we® + 222



